How do we find the y-intercept?

We know the y-intercept is ... -the value
Ok y ven X =0

Let's find it using ...

Expanded Form: y =x*+ 7x + 10
% (O 1I(0) o
W [0)
Factored Form: y = (x + 2)(x + 5)
4= (0 (ptsy  (6,10)
y= (D)
Y 10

(0,10)



How do we find the x-intercept(s)?

We know the x-intercept is ... ‘the value ot
X then 4=0.

Let's find thewm using ...
Expanded Form: y =x*+7x+10 sl ”?!

0= X'+7x+10

Factored Form: y = (x + 2)(x + 5)

0= (x+2)(x+5) Q
%’ij

(Wnak do we Ko
doout faclors of 07)



Zero Product Property

Ifasb=0..weknow et q=p
)
=0 or beth aib=0.

Let's try this with ...
Expanded Form: y =x*+ 7x + 10

1 1
0= X+7y%+10 oo

help here .

Factored Form: y = (x + 2)(x + 5)
0= (X+2)(Xt5)

(-2 0) S\

i X+5-0
(-5,0) X¥2=0

- -5 -5
X2 X--

Best form for finding x-intercepts?

FACTORED |



How do we find the Line of Symmetry?

We know ... P line of Symmch% <LDS>
15 hal{ Nay behween e st- e rc(\jlg

How can we use what we know to caleuvlate this?
Let s Qnd Aine aNeXage of our X-irﬂcrcc\jb.

1057 3+ 5.-T_ _35
2 2

X=-35
VN C
05 15 aline .



How do we find the vertex?

We know the vertex is ... on v ||1nc
of Symmdﬂé.

Let's find it using .. (Los %=735)
Expanded Form: y = x* + 7x + 10
W= (-35Y+7(35) 110
i

= -2.25
Factored Form: y = (x + 2)(x + 5)

U= (-3512)(-3.5+5)

= (\5)01.5)
=-2.25 Veviey

(-3.5,325)

T iscasir Ao use e
factoved {oom.




How does the value of 'a’ affect the parabola?

Use Desmos to graph the following:

y = X2 - -X2
y = 3X2 = '3X2
y = 0.5%° y =-0.5x°

What about the parabola does 'a' control?

Opens a>0  Dpcns UP

U/ G40 opons downy
\(;\g\?;\?\‘oo‘a ; \ a \ \S lO\Y&)& — Newvower

o is smal| — WA




What information can we get about a
parabola from the different forms of
the equation?

Expanded Form: y =@<2 + bx +@

U\)/o\ Y- nt

'{WDC\MC{' Cl WA \//\r\l’,

Factored Form: y=(x+d) (x + e)

W\J("\ Zevo Yroduct ,
canGnd x- it



